
2017/11 – Subject to change 15� Internet: www.festo.com/catalogue/...

Mounting rail for proportional pressure regulators VPPE
Ordering data

Ordering data

Description Part No. Type

Mounting plate set

Set, consisting of:

� 1x mounting plate, weight: 110 g

� 2x socket head screws M4X55

� 2x socket head screws M4X16

� 2x slot nuts

� 2x O-rings

570966 VAME-P5-MK

Profile column (mounting rail)

Made from aluminium, as central air supply,

length: individually adaptable

175964 HMBS-80/40- -

End plate set (closed)

For sealing the mounting rail, consisting of:

� 1x plate

� 1x seal

� 4x socket head screws M5x12

8021858 VABE-P5-C

Compressed air supply plate set

With connecting thread G1/4,

consisting of:

� 1x plate with connecting thread G1/4

� 1x seal

� 4x socket head screws M5x12

8021859 VABF-P5-P3A3-G14

With connecting thread G3/8,

consisting of:

� 1x plate with connecting thread G3/8

� 1x seal

� 4x socket head screws M5x12

8021860 VABF-P5-P3A3-G38

With connecting thread G1/2,

consisting of:

� 1x plate with connecting thread G1/2

� 1x seal

� 4x socket head screws M5x12

8021861 VABF-P5-P3A3-G12

Additional power supply module set

Connection G1/4,

consisting of:

� 1x plate with connecting thread G1/4

� 1x O-ring

� 2x slot nuts

� 2x socket head screws M6x20

8021862 VABF-P5-P1A3-G14

Connection G3/8,

consisting of:

� 1x plate with connecting thread G3/8

� 1x O-ring

� 2x slot nuts

� 2x socket head screws M6x20

8021863 VABF-P5-P1A3-G38


